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I. Nru;j;J vOJf:      2x2=4 

1. vjpu; + Gwk;=     2. glu;e;J + ,Ue;jJ =

   

II. gpupj;J vKJf:      2x2=4 

1. igapypUe;J -   2. ifj;jl;b - 
 

III. jkpohf;fk;:       3x2=6 
1. Road -   2. Help -  3. School - 

IV. rpWtpdh:                        2x3=6 
1. ngupatu; ve;j vz;zpw;Fr; nry;Ngrpapy; Ngrpdhu;?         
2. Mrpupau; fz;zid vjw;fhfg; ghuhl;bdhu;? 

      

   

 

 

tpil  

I. 1. vjpu;g;Gwk;    2. glu;e;jpUe;jJ 

II. 2. igapy; ,Ue;J   2. if jl;b   

III. 1. rhiy   2. cjtp  3. gs;sp 

IV. 1. ngupatu; 108 vd;w vz;zpw;Fr; nry;Ngrpapy; Ngrpdhu;. 

2. fz;zd; gpwUf;F cjtp nra;jjhy; Mrpupau; ghuhl;bdhu; 
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